TancbipmMa

Kblagam?
(LIBIFApMAITBUIBIK
TaICceIpMa)




CUHKBEHH

bipixmm ko1 — TybIHIEL,

EX1HII 5)K01 — €K1 CBIH €C1M;

Y IiHII KO — YII €TICTIK;
TepTiHII KOJI — TaKBIPbIIIKA JICICH
CE31IM1H/I1 OUIAIPETIH TOPT CO3.



1. FX)=3X3-2X2-1
2. F(X)=X%(2X-1)
TYBIHABICBIH TATI




1. F(X)=3X3-2X2-1

F' (X)=9x2%-4X
2.F(X)=X%(2X-1)

F' (X)=2X(2X - 1)+2X2 =6X? -2X =
2X(3X-1)



JKayan 2% 27x* | 9x*-9x | x%2x 1
TarchIpMa
e 2x° b A F J1 p b
eN=53x-4,5x° O I1 | C bl i
F(x)=x+C Y M A 1O JI T
F(x)=x*/3-x*+2 T 111 O I B i  Ikapra
y=9x E M X K Y M
JKayan x+1 (2023 [21x% (0 (i
TarnceipmMa
0 y=7x° T M b K |[C
II kapra a F(x)=x" 12 K I O |A
C F(x)=12x*+x |C Y Y bl |4
T F(X):4C | I1 X T |10
=5x"+1 41 bl O A
S [y=ox H
JKayan 22x-4x3 4x3 1 14x+3x° 2
TarchIpMa
F(x)=x" A M T Y K M M1
KaprTa
F(x)=7 x*+x> |3 4 K Y O y P
F(x)=x O K P I /1 p
y=11x>-x* A C D H 3 a
y=5+2x 111 bl E X T 1



1.f (x) = 13x? - 7x+5
2.1 (x)= —

2 - x

- TYBIHABICBIH Tall




1.f (x) = 13x%- 7x+5
f'(x)=26x-7

3x% — X

2.1 (x)= -
f'(x)=(6x-1)3x-(3x% — x)3 = 18x? -3x-
9x2+3x=9x2
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f(x)= 13x*- Txt3

3 =
L1 (x) =5 TYBIRIBCHIH TR
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[, F(X) -3X3 IXE- 1

! (X)=9x“4X
LE(X)=X{(2X-1)

B (X)=2X(2X - 1)+2X* =6X* -2X =
2X(3X-1) (=




